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Explain the significance of cost reduction in the present

global economy. Mention some important techniques

used for cost reduction.

6

The Chief Accountant of Vikas Limited found to his

surprise that the actual profit for the period ending 30th

June, 2012 was the same as budgeted in spite of realizing

10% more than the budgeted selling prices. The

following were the results :

Budget
(Rs.)
Sales 5,00,000
Variable cost of sales 3,00,000
Fixed cost 1,060,000
Profit | 1,00,000

Actuals
8,25,000
5,75,000

1,50,000



You are required to assist the Chief Accountant in
preparing the necessary explanations as to why the
profit remained the same despite an increase in

sales. 9
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Distinguish between cost estimation and cost
ascertainment. Explain why both are important to a

manufacturing concern. 6

The word Cost appears different under different settings
and applications. In this context explain and illustrate

the uses of the following cost concepts :

()  Incremental cost

(ffy  Direct cost

(i) .Opportunity cost and

(v) Relevant cost. 9
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“Fiexible Budgets are more realistic and useful than fixed
budget.” Do you agree 7 | 3

What are the varous circumstances under which material

price variances are likely to arise ? 3



o

(¢)  Calculate (/) Efficiency; and (ii) Capacity Ratio from the

following figures :

Budgetary production

Actual Production

Standard time per unit

Actual Hours worked

80 units

60 units

8 hours
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(@)  What are the pre-requisites for introducing Responsibility
Accounting in a company. 3
(b) “Marginal costing rewards sales ~hereas absorption
costing rewards pro&uction." (omment. * 3

) A factory manufactures 0. types of articles—X and

Y. Anticle X takes (rnours to make and article Y requires
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20 hours. Jn a month {23 days of § hours each) 500

units of X and 300 units of Y are produced. The

tudgeted hours arc B,500 per monﬂn. The factory

employs 60 men in the department concerned. Compuie

Activity Ratio, Capacity Ratio and Efficiency Ratio. 9
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What arc assumptions ‘of Break-even Chan ? 3

You are requested to prepare a sales Overhead Budget

from the estimates given below :

Rs,
Advettisement | 2,500
Salarics of e sales departmom 5,000
Expenses of sales department | 1,502

Counter sglesman's salaries and

dearness allowance 6,000
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Commission 1o counter salesmen at 1% on their sales.

Travelling salesmen’s commission at 10% on their sales

and expenses at 5% on their sales.

The sales during the period were estimated as

[ollows - 6
Counter Sales Travelling Salesmen's Sales
80.000 10,000
},20,000 15,000
1,40,000 20,000

(¢c)  The profit volume ratio qf X Ltd. is 50% and the n"largin
of safety is 40%. You are required to calculate the net _
profit if the sales volume is Rs. 1,00,;)60. 6
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The following figures relate to a manufactuning company

Annual sales at 100% effective

capacity Rs. 12,00,000
Fixed Overhead Rs. 4,00,000
Total variable costs Rs. 6,00,000

It is proposed to increase the capacity by the acquisition of
30% additional space and plant. It will result increase of fixed

overhead by Rs. 1,00,000 per annum.

Plot the foregoing on a single break-even chart and determine
from the chart at what capacity utilization the same profit as
before will be produced after the cxtensions have been

made. 15
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A company has two plants at Location | and ll. Operating
al 100% and 75% of their capacities respectively. The compan'y
is considering a proposal to merge the two plants at one

location to optimize available capacity. The following details
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are available in respect of the two plamis, regarding their

present performance/operation :

Particulars Location I Location TIl
Sales (Rs. in lakhs) 200 75
Variable cost (Rs. in lakhs) 140 54
Fixed cost (Rs. in lakhs) EH 14

For decision-making purposes you are required to work out

the following information :

(i)  The capacity at which the merged p!ﬁnt will break-even.

(i) The profit of the merged plant working at 8:0%
capacity.

{ii) Sales required if the merged plant 1s required to eam

an overall profit of Rs. 22 lakhs. 15
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“The role of managerial accountant is deciding among
alternative course of action is crucial” Examine this
statement with special reference to special order
accéptance‘ 6

ABC Lid. produces a variety of products each having

a number of components partts product B takes 5 hours

rT.O.
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to produce on a particular machine, which is working
at full capacity, B has a selling price of Rs. 100 and
variable cost of Rs. 60 per unit. A component part
X-100 could be made on the same machine into house
at_variable cost of Rs. 10 per unit. The supplier's price

for the component is Rs. 25 per umit.
Required :
Advise whether the company should buy the component

X-100 (If necessary make suitable assumptions). 9
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A.S. Ltd. operates a system of standard costing in respect
. L - .

of one of its products which is manufactured within a single
!

cost centre the following information is available :

For one unit of product the standard material input is 20 lirre£
at a standard price of Rs. 2'per litre. The standard wage rate
is Rs. 6 per hour, and 5 hours are allowed to produce one

unit. Fixed production overhead at the rate of 100% of direct
wages cost.

P.T.OT
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" During the month just ended the following occurred :

Actual price for matertal purchased Rs. 1.95 per litre

Total direct wages cost was Rs. 1,56,000
Fixed production overhead incurred was Rs. 1,58,600
Variances Favourable Advers;e
Rs, Rs.
Direct material price 8,000 —
Direct material usage — 5,000
Direct Labour usage — 5,760
Direct labour efficiency 2,760 -—-—

Fixed production overhead
expenditure — 8,000

Reguired .
Calcufate the following for the month :
(/)  Budgeted output in units.

(i)  Number of liters purchased.



(i) Number of liters used above standard allowed.

(v} Actual uniis produced.
(v)  Actual hours worked

(W)  Actual wage rate per hour, 15
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Differentiate between performance budgeting and

programme budgeting, 3

!
A gang of workers usually consists of 10 men, 5 women]‘

and § boys in a factory. They are paid at standard

hourly rates of Rs. 12.25, Rs. 8 and Rs. 7 respectivel);.
]
In a normal working week of 40 hours the gang is
|

expected to produce 1,000 units of output,

In a cenzin week the gang consisted of 13 men, 4
women and 3 boys. Actual wages were paid at the rates

PT.O.
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of Rs. 12, Rs. 8.5 and Rs. 6.5 respectively. Two hours
were lost due 1o abnormal idle time and 960 units of
output were produced. -

Calculate various labour variances. 12
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